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Load Circuit for Buck 1
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sets load current (OV to 120nV step = OA to 12A transient).
DNP, C85 = 0Chm R52 = 1kChm R54 = 10k.

Magni t ude of input signal
To configure old load trans circuit R68 =
Transient Load Crcuit for Buck 2 a
vee v ) CG"I
22UF
dea = —————KBUCK2vOUT
42UF
©
1 Q4 U6
GND} & NPN BCE 1 8
= w 2SS DPI7
) o 31S Pls
¢ u3 1S Df% B
+ RS 9 G D
U}A{ 1 BSCO11NO3LS
Sig_INZ) Sig 132 " oPA3S6 | Ro2 o o (VLOAD2
€86 1B R63
61 100k | 82pF PNP BCE Re3
2 1k = R69 9 R65 R67 i
1 $ VLOAD?2] 0.04 0.04 Qurrent Measurement 2
[ 100 R61 [
= = 100 R64 R66
0.04 0.04

120nV step = OA to 12A transient).
= 1kChm R63 = 10k.

Magni t ude of input signal sets load current (OV to
To configure old load trans circuit R69 = DNP, C86 = 0Chm R61
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Transient Load Circuit for Buck 3
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Magni t ude of input signal sets load current (OV to 120nV step = OA to 12A transient).
To configure old load trans circuit R102 = DNP, Cl24 = 0Chm R105 = 1kChm R104 = 10k.




